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Bl . At = hhhe
Cs-137| 1.8E-5 | 2.2E-5 | 1.5E-5 | 2.7E-5 | 2.3E-5 | ND(1.2E-6) OEEH/ N—R I ()
Cs-134| 5.0E-6 | 3.1E-6 | 3.7E-6 | 4.7E-6 | 5.4E-6 | ND(7.7E-7) I """
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.JEO X 23E6 X 1E-8

9OE+7 X 24 X365 X 2.5E-19 x0.0022 /0.5 X 1E3

(5.0E-6+1.9E-5) X 9588 X 1E6 X 1E-8
(1.6E-6+2.9E-6) X 23E6 X 1E-8
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FEWE | %E | (Ba/em®) | RERA %iE (Bg/cm®) FmA | #%iE (Ba/cm?) | FEE(m3/h)
Cs-134 | 7.4E-6 Cs-134 2.9E-6 Cs-134 | ND(1.8E-6)
AiIE 2/6 AiIlE 19
Cs-137 | 2.2E-5 Cs-137 8.7E-6 Cs-137 | ND(2.8E-6)
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qeg | R/BIFLBIOE TR R E(m®/h) CsmiST NDGGES)
. D FAZE(M3/h) SREDFHE10,000m3/h
i B Dot R D oonii RERE | #%H& | Ba/om) | FB(mi/h)
BiIE 13,297 3,297 =
BTE | Kr-85 | ND(5.7E1) 19
2/6 8,292 0
- 2/6 | Kr-85 | ND(5.6E1) 19
FEOHEE R =TI E A
3. = 5Tl
BERREHO =(3.5E-7+5.7E-7) X 10000 X 1E6 X 1E-8 = 9.2E-5{8Bq/BFLLTF
BOP[&fH % =(2.9E-6+8.7E-6) X 0 X 1E6 X 1E-8 = 0{&Bq/B%
PCVFA X H A(Cs) =(1.6E-6+2.6E-6) x 19E6 X 1E-8 = 8.0E-7{EBa/EFLLF
PCVA X H AKr) = 56E1 X 19E6 X 1E-8 = 11E+1{EBq/BF LT
PCVA R AKARILIRE) = 1.1E9 X 24 x 365 X 2.4E-19 X 0.0022 /0.5 X 1E3 = 1.0E-5mSv/&E LT
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3. H = 5T
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2.1 H = 5Tl
B2 (RFIFE L) =(1.9E-6+3.5E-6) x 0.09 ¥ x 1E6 X 3600 X 1E-8 = 1.7E-5{EBa/BEfLL T
2 (HE58/ \yTF) =(2.1E-6+3.4E-6) X (0.01 X 5.6 X5.6)E6 X 3600 X 1E-8 = 6.2E-5{EBq/FFLL T
PCVAH X H A(Cs) =(1.9E-6+2.8E-6) X 20E6 X 1E-8 = 94E-7{EBq/BFLLTF
PCVA R H AKr) = 6.2E1 X 20E6 X 1E-8 = 1.2E1{8Ba/FELUT
PCVA R H AKARILIRE) = 1.2E9 X 24 X365 x3.0E-19 X 0.0022 /0.5 X 1E3 = 14E-5mSv/&ELT
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- Cs-134 | ND(5.7E-7) | ND(5.5E-7) | ND(5.5E-7) SIE s it
Cs-137 | ND(9.4E-7) | ND(8.7E-7) | ND(8.9E-7) Cs-137 ND(9.4E-7)
_ . _ _ Cs-134 ND(5.1E-7)
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= (5.1E-7+9.0E-7) x 50000 X 1E6 X 1E-8

= 85E-5{8Bq/BELL T
= 7.1E-MEBa/BELLT

HMEE IREE




%51 15HEEN/N\—ORREFL(

ERliipapr
ERRBEINHEE. BERNNIE. EREBELENSEHETRD S,
T E B
2858 dtdtd® 1.6m/s
P4
<:|:": V6(P6=0)

V4 l V4
Tss 1% |
- S8 CER 1s4
Vi— V2
S S2
P1 P P2
7 FRFIFER
S9 S7 S6
(BEERAR) (€3-92:):0) (KA D)
\) V3 P3

P5 V5T S8 A—EiR/ R
300 x 47EFTIREA + ImAIREAL)

$R—
(ZZEE)

VO: S UER (m/s)
V1:hA—F A EE (m/s)
V2: H3—FRH AR (m/s)
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V5: A/ 3—FRH ABER (m/s)
V6: H/ 8 —FH AR (m/s)
V7 HERUER (m/s)
P1: EREIEA LRE) (Pa)
P2: FiREIES ALR) (Pa)
P3: EFREIE S (FERE) (Pa)
P4: THRAEIE A (FERE) (Pa)
P5: EEBIE F1(Pa)
P6:R/BNIE 71 (0Pa)
P:H/3—REH1(Pa)
S1: 7/ \—[ERIEHE (m?)
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P1=C1 X p xV0°2/(2g)

P2=C2x p xV0"2/(2g) =+
P3=C3Xx p xV0°2/(2g) =--
P4=C4x p xV0°2/(2g) =+
:P5=C5X p xXV0°2/(2g) *+-

(1)
(2)
(3)
(4)
(8)

HNEZP. [EHEEBOERFREE  £T5E
P1-P=¢ x p XV172/(2g)
P-P2=¢ x p xV2°2/(2g)
P3-P=¢ x p XV3°2/(2g)
P-P4=¢ X p XV4"2/(2g)
P-P5=¢ x p XV5°2/(2g)
P6-P=¢ x p XV672/(2g)
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ERRBAEDTRNSURRK(E
(V1 X ST+V3 X (S6+S7)+V6 X S5) X 3600=(V2 X S2+V4 X (S3+S4)+V5 X S8) X 3600

EDERBDOEEIVIETS BE
Y=(V1 X S1+V3 X (S6+S7)+V6 X S5) X 3600~(V2 X S2+V4 X (S3+84)+V5 X S8) X 3600

V1, V2, V3, V4, V5, V6IE(6), (7), (8), (9), (10), (1 RIZKY. POEHLZDT. TYIAEDIZHESKSIZ

POEZAET D
VO C1 C2 C3 Cc4 C5 ¢ o
(m/s) (ke/m®)
1.61 0.80 -0.50 0.10 -0.50 -0.40 1.00 1.20
St S2 S3 S4 S5 S6 S7 S8 S9
(m?) (m?) (m?) (m) (m?) (m? (m) (m?) (m?)
1.20 1.20 1.20 1.10 0.29 0.00 0.00 3.32 2.88
P1 P2 P3 P4 P5 P6 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.127276 | -0.07955 | 0.015909 | -0.07955 | -0.06364 0 —0.06206
\2l V2 V3 V4 V5 V6 \Z Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
1.759 0.534 1.128 0.534 0.161 1.007 0.000 0.00
IN OuUT IN ouUT OUT IN OUT(HER) OK
XIN  REA
OUT: it
HwREE 8,655 m’/h
HRo7TVRE 0 m’/h
maE 8,655 m’/h
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2A58 2A68 2878 2A8A 2A98 2H108 2f118
BE | B | RARE | RE BRI | RE | BRI AR | RE | BR | REE | R& | BRI | AR | RE | BE | RARE | BE | BE | Rax
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h)
il 15 38 1,016 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00 00 0.0 00
FwILEE | 1.9 18 7517 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00
ElA:i7::8 1.2 40 5,780 0.0 00 0.0 0.0 00 0.0 0.0 0.0 00 0.0 00 0.0
dtAER| 16 8.3 8,655 0.0 0.0 0.0 00 0.0 0.0 00 0.0 00 0.0 0.0 0.0
El4: 18 17 9,374 00 00 0.0 0.0 00 0.0 0.0 0.0 00 0.0 0.0 00
JedeEE | 16 07 14,074 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 00 0.0 0.0 0.0
ElA:3::8 1.1 05 10,779 0.0 00 0.0 0.0 0.0 0.0 0.0 00 00 0.0 00 0.0
HEEA| 07 02 6,822 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0 0.0
HE 1.1 02 9,718 00 00 0.0 0.0 00 0.0 00 0.0 00 0.0 0.0 0.0
HEEE | 09 05 8446 0.0 00 00 00 0.0 0.0 00 00 00 00 0.0 0.0
HRA 0.9 05 8,243 0.0 00 0.0 00 0.0 00 00 00 00 00 00 0.0
MERA| 12 0.2 10,393 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 0.0 00 0 00 0.0 0.0 00 00 00 00 00 00 00 00 00
mEEE | 00 0.0 0 0.0 00 00 0.0 0.0 0.0 0.0 00 00 00 00 0.0
i 00 00 0 00 00 00 00 00 00 00 00 00 00 00 0.0
HEEE | 14 1.2 5,509 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0
ﬁ;?aé 162,577 0 ] 0 0 0 0
m3)
16753 BDTIIRRND SR/BREZHE DX DICFHTHT D,
RREEE
EaiE] ] 1/8 ~ 1/14|1/15  ~ 1721|1722 ~ 1/28|1/29 ~ 2/4| 2/5 RAREEEMI) [ FHEHRYIFE®N)| RiEEmMI/h)
Eﬁﬁ?rﬁ;ii 1,517,192 1,694,783 1,602,609 1,695,971 162,577 6,673,131 696 9,588
HEE BIGEE 8
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AN—HADFH A

P5=0
RFFEE

VO: S SR (m/s)
V1:hAN—RGRH AR (m/s)
V2: h\—RRHE ARE (m/s)
V3: WN—HREARE(m/s)
V4: hN—RNGEH AR (m/s)
V5: WhN\—RRHE ARE (m/s)
P:H/\—RE A (Pa)

P1: ERBIEH LR (Pa)
P2: FHRAIE A GLR) (Pa)
P3: EiRBIEH (FER) (Pa)
P4: FTHRABIE A (FER) (Pa)
P5:R/BINIE 71 (0Pa)

S1: AN—[EREERE (m)
$2:h/\—[RRAEE (m”

$3: /A —[ERAEHE (m?

S4: AN\ —IERIETE (m”

S5: BB EEERIEHE (m)
0 EREE (kg/m°)
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REEVET L. LRl FRAIOEA G
EREIAER) -P1=C1 x p xV0"2/(2g)
T (LE) :P2=C2x p XV0°2/(2g) =--
ERMEI(FER) :P3=C3 X% o X V0"2/(2g) *-*
TiE(FER) :P4=C4 x p xV0°2/(2g) =-*

REZP. REBOERRRE L T 5L

P1-P=¢ x p XV17°2/(2g)
P-P2=¢ x 0 XV2°2/(2g)
P3-P=¢ x p xV372/(2g)
P-P4=¢ x p xV4"2/(2g)
P5-P=¢ x p xV572/(2¢)

LEERFAHABDTANSU AR L
(V1 X ST+V3 X S4+V5 X S5) X 3600=(V2 X $S3+V4 X S2) X 3600

EDERDDEEYIET HE
Y=(V1 X S1+V3 X S4+V5 X S5) X 3600-(V2 X S3+V4 X S2) X 3600

V1, V2, V3, V4, V5(%(5), (6), (7), (8), ()RKIZkY. POBEHKLZDOT. TYINERIZASELSI

x

(1)
(2)
(3)
(4)

<+ (5)
< (6)
e (7)
< (8)
-+(9)

DEEY LD,

POEZRAESD
Vo Ci1 Cc2 c3 Cc4 ¢ 0
(m/s) (kg/m%)
1.50 0.80 -0.50 0.10 -0.50 2.00 1.20
S1 S2 S3 sS4 S5
(m) (m) (m) (m) (m)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.110204 | -0.06888 | 0.013776 | —0.06888 0 -0.00047
Vi V2 V3 V4 V5 Y
(m/s) | (m/s) | (m/s) | (m/s) | (m/s) (m®/h)
0.95 0.75 0.34 0.75 0.06 0.00
IN ouT IN ouT IN OK
XIN A
OUT: it
WEE 3,396 m%/h
M E BRICER 10
= s O N N —
552 ASEEERELURH/ \—0 R E3EF
2 k) (AN IR
NES P N=N=E=h _
B EDREREFHIE (—1B1D
2848 2858 2H68 2878 2H8H 2H98 28108
BE | BRR | RAE [ RE& BERR | AR | RE | BR | RARE | AE B | RRE | RE | BR | RERE | RE BRRS | RRE [ RsE | BRI | RAE
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
A 1.4 9.3 3,737 15 38 4,160 1.8 0.7 4,960 32 37 8,687 32 42 8,751 39 102 10,613 35 112 | 9,549
BeER | 1.7 35 3,764 19 18 4,295 26 9.3 5,800 1.3 1.7 2,885 1.7 25 3,846 48 102 10,873 34 18 7,785
FEER 0.7 08 1,681 1.2 4.0 2,829 2.1 50 4,656 0.9 03 2,044 0.9 15 2,120 28 23 6,246 11 02 2,498
JEALFER | 0.7 08 1,675 1.6 8.3 3,649 1.5 28 3,409 0.0 00 0 1.2 0.2 2717 38 1.2 8,538 15 02 3,396
;) 08 05 2,515 18 1.7 5,506 1.6 05 5,030 0.0 0.0 0 07 0.2 2,201 0.0 0.0 0 1.2 03 3,616
JEdLEE | 07 0.2 1,585 16 07 3,679 18 15 3,999 0.9 02 2,037 06 05 1,434 0.0 0.0 0 08 02 1,811
ElA: ;0 1.9 08 4,406 11 05 2574 24 20 5,356 1.0 03 2271 07 0.2 1,590 0.0 0.0 0 0.0 0.0 0
BALEE | 20 35 4,651 07 02 1,590 25 1.0 5,679 00 00 0 1.2 07 2,783 0.0 0.0 0 0.0 00 0
HE 1.6 18 4274 11 02 2,990 25 02 6,795 00 00 0 10 05 2718 0.0 0.0 0 0.0 00 0
HEEE | 14 0.3 3,030 09 05 1,945 0.0 0.0 0 22 02 4,938 11 1.7 2,447 0.0 0.0 0 18 02 4,040
HRE 10 05 2,170 0.9 05 1,945 0.0 0.0 0 25 20 5574 1.4 25 3,187 0.0 0.0 0 0.0 00 0
MmEER | 11 0.3 2,462 12 0.2 2,686 0.0 0.0 0 36 40 8,123 1.7 15 3,905 0.0 0.0 0 22 05 4,924
HA 0.6 0.2 1,878 0.0 0.0 0 0.0 0.0 0 26 20 8,267 2.1 05 6,676 0.0 0.0 0 1.9 05 5,946
MmAE [ 00 0.0 0 0.0 0.0 0 0.0 0.0 0 22 48 4917 20 18 4,538 0.0 0.0 0 22 1.3 4,952
L) 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 18 28 3,974 1.6 1.8 3571 0.0 0.0 0 26 25 5,791
FEEAER | 12 05 2,693 14 1.2 3,110 15 07 3,367 1.9 13 4,293 1.2 20 2,787 31 0.2 6,958 3.1 5.0 7,040
" ':?m%;% 84,734 85,399 118,663 140,184 95,955 244,137 185,783
o — R — e e — |—=
1675 BDFIIRRERND SREBEZFE DX DICTHEHT D,
BPymeas
VI5E /%EDE
SRR V1~ 113 |1/14  ~ 120 1/21  ~ 1/27|1/28 ~ 2/3| 2/4 ~ 2/10 RHREAF(M3) | FHERRMREGN) | RiREmMI/N)
’@ﬁ’?mﬁé)ﬁé 933,905 948,739 821,209 993,384 954,854 4,652,092 840 5,538
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